Teachers:
Version A has prompts to assist students in completing the problems.  This would be best for lower functioning students.

The problems match on both pages.
A

Name: ______________________________________________________ 




Class: ______________

Adding & Subtracting Fractions

Solve the equation:
1/4 + 3/6 = 

(1) find the _____________________________     ____________________________________:

We find a common denominator by finding the least __________________________  _________________________ of the fractions that we are adding or subtracting.

Show your work:
(2) Rewrite the equation with your common denominator and solve the equation:

____________________ + _____________________ = ______________________

(3) Simplify if possible by dividing the numerator and the denominator by their greatest common factor.

The answer in simplest form is: __________________

Directions: Solve.

	Equation
	Find the Common Denominator
	Rewrite the equation & Solve
	Answer; Simplify if possible
	Simplified Answer

	1/5 + 3/10 =
	5: 5, 10, 15
10: 10

LCD = 10

1/5 x 2/2 = 2/10
	2/10 + 3/10  = 5/10 
	5/10 = 1/2
	1/2

	3/4 + 5/6 =
	
	
	
	

	6/7 - 1/2 =
	
	
	
	

	7/8 - 1/4 =
	
	
	
	


Directions: Solve.

	Equation
	Find the Common Denominator
	Rewrite the equation & Solve
	Answer; Simplify if possible
	Simplified Answer

	1/4 + 3/5 =
	
	
	
	

	3/7 + 1/6 =
	
	
	
	

	7/8 - 1/3 =
	
	
	
	

	5/8 - 2/5 =
	
	
	
	

	1/8 +3/10 =
	
	
	
	

	3/4+ 1/10 =
	
	
	
	


B
Name: ______________________________________________________ 




Class: ______________

Adding & Subtracting Fractions
Solve the equation:
1/4 + 3/6 = 

(1) find the _____________________________     ____________________________________:

We find a common denominator by finding the least __________________________  _________________________ of the fractions that we are adding or subtracting.

Show your work:
(2) Rewrite the equation with your common denominator and solve the equation:

____________________ + _____________________ = ______________________

(3) Simplify if possible by dividing the numerator and the denominator by their greatest common factor.

The answer in simplest form is: __________________

Directions: Solve each problem.  Show all work underneath the problem.  Write your simplified answer on the line.
1. 1/5 + 3/10 = _______________________


2. 3/4 + 5/6 = _______________________

3. 6/7 - 1/2 = _______________________



4. 7/8 - 1/4 = _______________________
5. 1/4 + 3/5 =_______________________



6. 3/7 + 1/6 =_______________________

7. 7/8 - 1/3 = _______________________



8. 5/8 - 2/5 = _______________________
9. 1/8 + 3/10 = _______________________


10. 3/4 + 1/10 = _______________________

